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1. The value of  if |z| = 3 is:

A. 18

B. 1

C. 3

D. 36
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https://doubtnut.app.link/lkek2J5wfhb
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https://dl.doubtnut.com/l/_wZHbBXimks0j


Answer: D

View Text Solution

2. In a , if , then 

 =

A. 

B. 

C. 1

D. 

Answer: A

View Text Solution
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https://dl.doubtnut.com/l/_wZHbBXimks0j
https://dl.doubtnut.com/l/_ynGjNWFl9RDR


3. A bag contains 20 white balls and 20 red balls. (Assume that

balls of same colour are distinguishable). Pair of balls are

drawn at random without replacement until the bag is empty.

The probability that each pair consists of one white and one

real red ball is:

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

220 × (20!)
2

40!
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https://dl.doubtnut.com/l/_SQszGNTOlT8U


4. Let P(x) is polynomial of degree 4 such that P(l) = 4, P(2) = 7,

P(3) = 10, P(4) = 1. If leading coe�cient of P(x) is unity then P(6)

is equal to:

A. 8

B. 139

C. 19

D. None of these

Answer: C

View Text Solution

5. Let A and B be two sets containing four and two elements

respectively, then the number of non-empty relations from A

https://dl.doubtnut.com/l/_grssLJPHift1
https://dl.doubtnut.com/l/_16czDXsUUvvX


to B is:

A. 255

B. 256

C. 257

D. 247

Answer: A

View Text Solution

6. If two distinct chords drawn from the point

 to the circle.  

 (  is a parameter) are bisected

by x -axis, then the exhaustive set in which  lies is

(2√2 sin θ, )
1

√2

x2 + y2 = 2√2 sin θx + y
1

√2
θ

θ

https://dl.doubtnut.com/l/_16czDXsUUvvX
https://dl.doubtnut.com/l/_z1dqVcFXwEK1


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(nπ + , nπ + ), n ∈ I
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7. Tangent at any point P on the hyperbola 

intersects the asymptotes at points A and B, if C is the centre

of the hyperbola, then area of  is:

A. 4 sq. Units

B. 6 sq. Units

− = 1
x2

9

y2

4

△ ABC

https://dl.doubtnut.com/l/_z1dqVcFXwEK1
https://dl.doubtnut.com/l/_FXIFQTB7xDYz


C. 8 sq. Units

D. None of these

Answer: B

View Text Solution

8. Consider the parabola . If its chord

AB : 2m x - 2 y + (4 m + 3) = 0 intersect its axis at K and

directrix at M, then AM, KM and BM are in:

A. A.P

B. G.P

C. H.P

D. None of these

x2 + 4x − 2y + 6 = 0

https://dl.doubtnut.com/l/_FXIFQTB7xDYz
https://dl.doubtnut.com/l/_WPJqWEmb0nkD


Answer: C

View Text Solution

9. The angle between the two lines: 

 &  is:

A. 

B. 

C. 

D. 

Answer: A

View Text Solution
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https://dl.doubtnut.com/l/_WPJqWEmb0nkD
https://dl.doubtnut.com/l/_jreo8EtcFew8
https://dl.doubtnut.com/l/_o3J9uSbmg77Z


10. If  and  and 

 then a unit vector in

the direction of  is:

A. 

B. 

C. 

D. none of these

Answer: B

View Text Solution

→
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→
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11.  equals:

A. 

(lim)x→ 0

tanx√tanx − sinx√sinx

x3√x

1

4

https://dl.doubtnut.com/l/_o3J9uSbmg77Z
https://dl.doubtnut.com/l/_T9EebUvoPY8a


B. 

C. 

D. 1

Answer: B

View Text Solution

3

4

1
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12. The range of  is:

A. 

B. 

C. 

D. None of these

Answer: C
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3 sin θ + 4 cos θ + 2
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7
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1

3

1

7

https://dl.doubtnut.com/l/_T9EebUvoPY8a
https://dl.doubtnut.com/l/_X9RXqA0dzXl9


View Text Solution

13. The value of the de�nite integral

dx equals:

A. 

B. 

C. ln2 + ln3

D. 

Answer: B

View Text Solution

∫
1

− 1
ln(1x + 2x + 3x + 6x)

ln 2 + ln 3
2

ln 2 + ln 3

3

ln 2 + ln 3

4

https://dl.doubtnut.com/l/_X9RXqA0dzXl9
https://dl.doubtnut.com/l/_H8Zd9MAkv2rC


14. Normal to a curve at a point P(x,y) meets the z-axis at G.. If

distance of G from the origin is twice the abscissa of P, then

the curve is

A. Parabola

B. Circle

C. Ellipse

D. Hyperbola

Answer: D

View Text Solution

15. The value of  dx is equal

to

∫
x(x4 − 1)

(x8 + 3x4 + 1)tan− 1(x2 + )1
x2

https://dl.doubtnut.com/l/_rvmc8nNWG42y
https://dl.doubtnut.com/l/_3brgokVaSnUw


A. 

B. 

C. 

D. none of these

Answer: B

View Text Solution

ln tan− 1(x2 + ) + C
1

x2

ln tan− 1(x2 + ) + C
1

2

1

x2

2ln tan− 1(x2 + ) + c
1

x2

16. 110 triangles can be formed by joning 10 points as vertices

in which n points are collinear. Then the value of n is:

A. 5

B. 6

C. 3

https://dl.doubtnut.com/l/_3brgokVaSnUw
https://dl.doubtnut.com/l/_PP8aUDYv8E8N


D. 4

Answer: A

View Text Solution

17. If , then  is:

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

tan(π cos θ) = cot(π sin θ) cos2(θ )
π
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https://dl.doubtnut.com/l/_PP8aUDYv8E8N
https://dl.doubtnut.com/l/_6XBGXk258gHB


18. If , then the value of 

 is:

A. 9

B. 3

C. 18

D. none of these

Answer: A

View Text Solution

2x = y + y−1
3

1
3

. + .
x2 − 1

y

d2y

dx
2

x

y
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19. The angle of inclination of the top of the tower from point

A on the ground is  and from point  it is . The height ofα β β

https://dl.doubtnut.com/l/_oph8juGauXq6
https://dl.doubtnut.com/l/_CTrg1TVjaOej


tower is x units. If points A and B are y units apart and on the

same side of tower then  is equal to ( )

A. 

B. 

C. 

D. None of these

Answer: B

View Text Solution

y

2x
β > α

sin(α − β)

cos(α − β) − cos(α + β)

sin(β − α)

cos(α + β) − cos(α + β)

sin(β − α)

cos(α − β) + cos(α + β)

20. Number of real roots of the equation: 

 in  is:

A. 0

sin− 1 sinx = cos − 1 cos 4 [0, 2π]

https://dl.doubtnut.com/l/_CTrg1TVjaOej
https://dl.doubtnut.com/l/_RC1FcgpX8xxQ


B. 1

C. 2

D. more than 2

Answer: A

View Text Solution

21. If 

, then the value of k is:

View Text Solution

+ + + .... . + = (k )
20C1

1

20C3

2

20C5

3

20C19

10

220 − 1

21

22. Find the number of value(s) of  in the interval [ ], such

that the following linear equations has a non-trivial solution: 

θ 0, π

https://dl.doubtnut.com/l/_RC1FcgpX8xxQ
https://dl.doubtnut.com/l/_eRmbdkOGVRBg
https://dl.doubtnut.com/l/_e32JvtXhb5Fc


 

  

View Text Solution

x sin 2θ − y cos 2θ − z cos θ = 0

sin 2θ − − = 0
x

yz

2 sin 2θ

z

2 cos 2θ

y

x sin 2θ − y(sin 2θ + cos 2θ) − 2z cos 2θ = 0

23. An aeroplane �ies around a square, the sides of which

measure 100 miles each. The aeroplane covers at a speed of

 the �rst side, at  the second side, at 

 the third side and  the fourth side. The

average speed of aeroplane around the square is (in )

View Text Solution

100mh− 1 200mh− 1

300mh− 1 400mh− 1

mh− 1

24. The line  meets x - axis at B and the y -axis at

A. The perpendicular bisector of AB meets the line through (0,

3x + 2y = 24

https://dl.doubtnut.com/l/_e32JvtXhb5Fc
https://dl.doubtnut.com/l/_HlmN7SLAxh1s
https://dl.doubtnut.com/l/_bymMOAa0ACPr


-1) parallel to x -axis at C, then the area of the triangle ABC

is_____

View Text Solution

25. If the minimum and maximum value of function:

 on the interval [0, 3] is b and a,

then the value of a - b is

View Text Solution

3x4 − 8x3 + 12x2 − 48x + 25

26. If f is a di�erentiable function for all real x and

. If f(2)=0 and f(5) = 15 value of  is:

View Text Solution

f' (x) ≤ 5 ∀x ∈ R
f(3)

2

https://dl.doubtnut.com/l/_bymMOAa0ACPr
https://dl.doubtnut.com/l/_ORyD1f4ZAUNW
https://dl.doubtnut.com/l/_QfYcJQrsin1G
https://dl.doubtnut.com/l/_MgeKtRruufsu


27. Area bounded by the curves: 

and , is:

View Text Solution

y2 = 4k1x ∀k1 ∈ [ , ], x2 = 4k2(y − 2) ∀k2 ∈ [ − 1, − ]
1

8

1

4

1

4

x = 0

28. If , then the value

of  is:

View Text Solution

p = cos 55∘ , q = cos 65∘ , r = cos 175∘

+ +
1

p

1

q

r

pq

29. A bouquet from 11 di�erent �owers is to be made so that it

contains not less than three �owers. The number of di�erent

ways of forming the bouquet must be:

View Text Solution

https://dl.doubtnut.com/l/_MgeKtRruufsu
https://dl.doubtnut.com/l/_7vVXdpHJZTm4
https://dl.doubtnut.com/l/_ppm68vv7h09s


30. If  lies inside the ellipse 

then a lies in the interval . Find the value of k.

View Text Solution

(α, α − 1) 16x2 + 9y2 − 16x = 0

( , k)
9

25

https://dl.doubtnut.com/l/_ppm68vv7h09s
https://dl.doubtnut.com/l/_vtOmWoivyKfW

